[ Efficiency vs vertpos |

~ 0.5

20.45
4
2 04
(8]
$0.35
0.3
0.25
0.2
0.15
0.1
0.05

ettic

.................................................

.................................................

................................................

................................................

1.0

Ratio

i

o
©
a

=
o

Efficiend

[N}

107 1

10 0?
TP vertr (cr%)

—s=— DQM_V0001_R000000001__Global__mkFit_CAND100stable

—— DQM_V0001_R000000001__Global__mkFit_CANDFINAL100stable

N 1.2
1

0.8

efticiency vs ver

0.6

0.4

0.2

Vs

Ratio
N

0.95!

10 20 30
TP vert z (cm)

0

[Effici

ency vs.sim PV z |

N 0.
>
2.0.09
£
50.08
20.07
o)
20.06,
[}
(&}
£0.05
()
0.04
0.03
0.02

0.0

e R RERRE I SRS
Eooen [ DR O S P S T
E 5 | H I
Eo N . . i
e NN Y . C3 P R B
Eoeodeens b= 2 I Y U IER P O FOR T N S
E R HE S
E O O S O L
E e B W o IS AR S R B
E GO N B Y SR EE
pay SPPET I N AP I NP N PO PO IO B P
A : N

4 -2 0 2 4 6 810
Sim. PV z (cm)



	Contents
	Page 1


